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VI Semester 3 Year LL.B./VIIl Semester 5 Year B.A. LL.B. (Maj.-Min.System)/
B.B.A. LL.B/B.Com. LL.B. Examination, Sept./Oct. 2023 (June 2023)
LAW OF EVIDENCE

Duration : 3 Hours Max. Marks : 80

Instructions : 1. Answer all five Units.

2. One essay type question and short note/problem
is compulsory from each Unit.
3. Figures to the right indicate marks.
4. Answers should be written either in English or
[ Kannada compulsorily.

UNIT -1

Q. No. 1. a) What is evidence ? Explain the importance of circumstantial
evidence. Marks : 10

T . DOTTER ? TOOWPF T ToB T as0TB 000, wWasOR.
w3 w3 S =l
OR/esgs

Q. No. 1. a) Explain the relevancy of facts showing motive, preparation
and conduct. Marks : 10
wz:'éezﬁ, TPTE SO0 OB 5&3@’7@5& BRWROXN JONSNY

C ROBOWTZODT, 20X

Q. No. 1. b) ‘A’ is accused of Killing ‘B’. Prosecution has adduced evidence
of marks on ground produced by fight between ‘A’ and ‘B’ prior
to the incident. Is it relevant ? Marks : 6
B WTI, Bedn B wdme&oﬁaﬁw%ﬁ. 2IIN0Z 00
‘@ DY ‘W AT I@oT MOWEN0TN FOT Hded BN
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Q. No. 1. b)

Q. No. 2. a)

Q. No. 2. a)

Q. No. 2. b)

Q. No. 2. b)

‘A’ is accused of ‘B’s murder by beating him. At the time of

incident there was an exchange of words between A and B.

Is this fact relevant ? Marks : 6
W WERY BRBD RS IRAT STRTIRRIMONTS.
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UNIT — I

What is dying declaration ? Under what conditions do they
become relevant ? Marks : 10 .
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ROROLTTTOZT ?

OR/esgs

Explain circumstances under which judgements of courts

becomes relevant. Marks : 10
masoimeojocs SeR)F N mxow%mmw ROTIFNTIY

WO,

‘A’ is accused of murder of ‘C’. During trial ‘A’ confesses
“l and ‘B’ murdered ‘C’”. Is this confession relevant ? Marks : 6
‘9’30 ‘B’ QOWRD BRS THRBT @d@eﬁé&@mﬁ@)ﬁ. WITE
moiﬁ 9T TR TB) ‘W'D T W, BT BRRTOTN
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The question is whether a given road is a public way or

not. Does the statement by ‘A’ a deceased headman of the

village “that road was public”, relevant ? Marks : 6
2,003 BF 030 TosSF w8 TF0dne 5o wQRpe, 20w TI T 1 '0F
TBFRIFTICE ST 1M,OT #0003 ‘W I Tevdodn
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UNIT — 11l

Q. No. 3. a) E)_(plain the relevancy of character evidence in civil and
criminal cases.

QXD Tone ©TOIOT X, TOONGS), SB30D %8 T3
z‘oxow%éowag( DWOR.
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Marks : 10

Q. No. 3. a) What are public documents ? How are they proved ? Marks : 10

RO HRIT TTEEL D0TTED ? SRYNTO, Tert Toede=d
DETVWTOT ?

Q. No. 3. b) Write a note on Hearsay evidence. Marks : 6

=08 mg 2SCS aSoees qué B0200.
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Q. No. 3. b) Write a note on oral evidence. Marks : 6

DT mi esd wﬁ\ wgsé 2B000.

UNIT = IV

Q. No. 4. a) Explain the law relating to burden of proof. Marks : 10

BOZ0ST TBRTBMOOBIN TOWORRT TOSRTIY, DIOX.
OR/esg=

Define estoppel. Explain the different kinds of estoppel.
Q20T 0TTEI ? WOBNE AP é)cjﬁe;&gt QWOR.

Q. No. 4. a) Marks : 10

b) Write short notes on presumptions in dowry death cases. Marks : 6

Q. No. 4.
wdcﬁiﬁ W) [FONTYS TREFLPBT 020 OF0 wa-gfé
230200.
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Q. No. 4. b) Write short notes on presumption of good faith. Marks : 6
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Q. No. 5. a)

Q. No. 5. a)

Q. No. 5. b)

Q. No. 5. b)

UNIT =V

Explain protection given to communication during marriage
with exceptions. Marks : 10

Fokt eBOD RomsnY  SgEabEy  emmEReRonH
WO,

OR/es5s

Explain examination in chief, cross examination and
re-examination. Marks : 10

e, DIIE, L AR Y K0T IO DFOR.

An accused is alleged to have committed the murder of his ®

wife in the presence of his 8 year old son. Whether the
evidence of child is admissible ? Marks : 6

38RO 3@( éodéoﬁo&q 33‘* RO TRFTI SOOI 59@9
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A prosecution witness has turned hostile during examination
in chief. The public prosecutor wants to cross examine him.

Canhedoso? Marks : 6
W) OROIRERT  TOFOED WD,  NPTTVODY, T8RO
mgodnﬁw%ﬁ. BRCRET T BTII), Wt TedR 1D =
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